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- ~ Multiple choice(30%)

1. How should an unusual event not meeting the criteria for an extraordinary

item be disclosed in the financial statements?

(A)Shown as a separate item in operating revenues or expenses if material
and supplemented by a footnote if deemed appropriate.

(B)Shown in operating revenues or expenses if material but not shown as
a separate item.

(C)Shown net of income tax after ordinary net earnings but before
extraordinary items.

(D)Shown net of income tax after extraordinary items but before net
earnings.

2. If a company employs the gross method of recording accounts receivable

from customers, then sales discounts taken should be

(A)reported as a deduction from sales in the income statement.

(B) reported as an item of "other expense” in the income statement.

(C)reported as a deduction from accounts receivable in determining the
net realizable value of accounts receivable.

(D) reported as sales discounts forfeited in the cost of goods sold section
of the income statement.

3. On June 15, 2004, Stilley Corporation accepted delivery of merchandise
which it purchased on account. As of June 30, Stilley had not recorded
the transaction or included the merchandise in its inventory. The effect of
this on its balance sheet for June 30, 2004 would be

(A)assets and stockholders' equity were overstated but liabilities were not
affected

(B) stockholders' equity was the only item affected by the omission.

(C) assets, liabilities, and stockholders' equity were understated.

(D) none of these.
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4. A major advantage of the retail inventory method is that it
(A)provides reliable results in cases where the distribution of items in the
inventory is different from that of items sold during the period.
(B)hides costs from competitors and customers.
(C)gives a more accurate statement of inventory costs than other methods.
(D)provides a method for inventory control and facilitates determination of
the periodic inventory for certain types of companies.

5. Construction of a qualifying asset is started on April 1 and finished on
December 1. The fraction used to multiply an expenditure made on April 1
to find weighted-average accumulated expenditures is
(A)8/8.

(B)8/12.
(C)9/12.
(D)11/12.

6. A graph is set up with "yearly depreciation expense" on the vertical axis and
"time" on the horizontal axis. Assuming linear relationships, how would
the graphs for straight-line and sum-of-the-years'-digits depreciation,
respectively, be drawn?
(A)Vertically and sloping down to the right
(B)Vertically and sloping up to the right
(C)Horizontally and sloping down to the right
(D)Horizontally and sloping up to the right

7. Under the effective interest method of bond discount or premium
amortization, the periodic interest expense is equal to

(A)the stated (nominal) rate of interest multiplied by the face value of the
bonds.

(B)the market rate of interest multiplied by the face value of the bonds.

(C)the stated rate multiplied by the beginning-of-period carrying amount off
the bonds.

(D)the market rate multiplied by the beginning-of-period carrying amount
of the bonds.

A R
2%



T
06 8 & RAALFI A B4 4 F x2xg0

| FEAP FEp PR

S

I% | 4%

=

grEFag R S 96.4.21 10:30-12:10

8. Market-related asset value is used to determine the corridor and to calculate
the expected return on plan assets.
Expected Return

Corridor on Plan Assets

(A) Yes Yes
(B) Yes No
(C) No Yes
(D) No No

9. When a company amends a pension plan, for accounting purposes, prior
service cost should be
(A)treated as a prior period adjustment because no future periods are

benefited.
(B)amortized in accordance with procedures used for income tax purposes.
(C)amortized under accrual accounting to current and future periods
benefited.
(D)treated as an expense of the period during which the funding occurs.

10. When preparing a statement of cash flows, a decrease in prepaid insurance
during a period would require which of the following adjustments in
determining cash flows from operating activities?

Indirect Method Direct Method

(A) Decrease Increase
(B) Increase Decrease
(C) Increase Increase
(D) Decrease Decrease
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